


th centre O. ARB is another tangent touching the

gth BR is

 are tangents to @ circle wi
. If CP=11cm, BC=7cm, then the len

Q
(b) 5 cm (c)4 cm (d) 3 cm

2A — 45°) are acute angles such that sin A = cos (2A —45°), then tan A is

(b) 1\3 (c) 1 (d) V3

1 figure, if ZRPS = 25°, the value of £ROS is

(c) 165° (d) 155°

(d) 20°
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_10 cm and AB=12 cm as
le is inscribed in a AABC having sides BC=8 om, CA 10
the figure. Find AD, BE and OF. '«
F 3
A o B
asa-stne 1-V3 ipen find the value of 6.
1+V3°
: OR
e we that: ———— B =2 sec 20
) 1+sin@ 1-sinf
25. ABCD is a trapezium with AB [| DC. If AAED ~ ABEC, then prove that AD = BC.
A 8

SECTION C
Section C consists of 6 questions of 3 marks each.

1If the mean of the following distribution is 2.6, then find the value of k.

o | 4 |5
e |2

ABCD is drawn to circumscribe a circle.
+CD=AD +BC.

to a circle with the centre 0, from an external
— 60°. Find the length of chord AB.
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